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- [t202 £747|%(0.887), ZEEATA(0.727), Th7IR4(0.227), ThEK0.217), EHHTEA
(0.08) == LiEtH
< 37t R&D Are| ¢it| EXt CHH| A74=34F
EA7|€(3.3929)9| HIFO| 7+ =7 LIEtE

ME 109 29 Atgiet dat=

- [}202 2ZEYAETA(1.4071), T7|(0.9674),
(0.107) == LIEtH

S2712(0.8871), The(0.2371), EAATA

@ (Z V-15) AFTAFHE Ardst gat Hly @

(291 of 2, 2)

= of 2jct of 2jct
= Atz 22 ;};;}é‘; Atz 24 :&%él
ZSEHALA 754.4 54 0.72 12,312.5 1,724 1.40
EHAHTEA | 13,067.8 110 0.08 96,058.2 1,000 0.10
cHst 14,328.3 303 0.21 63,317.5 1,467 0.23
7| 759.1 17 0.22 4,327.2 416 0.96
471Y 696.0 61 0.88 16,165.6 1,421 0.88
s27|Y 6,870.2 948 1.38 49,721.4 16,844 3.39
7|Et 3,790.8 111 0.29 23,888.1 2,298 0.96
HA| 40,266.6 1,604 0.40 265,790.5 25,170 0.95
4) X|9E ALis} Mot
- 2021115 SESIT RAD AlRI0l K| AlRis Zil XIHI0] 61.05%2 712 52 HIES XX[3
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@ [O2 Iv-27] X|9E

@ =71 R&D At CHH| 883+ R&D Al
HISO| 71 =l LIEtE

- s E2 7.37%2 UEH

= XY
Aist Y1t @

Of X[HE Afist k=

Il 88t

|24(7.41%)2]

R&D M =712 R&D

600/8,137
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< 8T R&AD AIYQ| S| £t tHH| X[9E 10 2T Atet dit= XY
0.4129)2| Jat7t 7+ =H LEHE
- 2 0.37722 LEHH
< =7t R&AD AfQ| GH| FX} CHH| X992 109 &Y Atet dit= 3
(0.9929)2| HISO| 7+ =4 LIEHE

- X2 0.827102 LIERS

@ (Z V-16) XI9E Alst ¢} Hlu @

(E491: ©f 2, 71)

g

of oct
At 7 | 10%1 88

Argist 2
MESSEA 10,141.5 266 0.26 48,767.3 2,877 0.59
ey 47 677.0 64 0.95 5,242.9 589 1.12
QUITEHA| 5,486.3 270 0.49 28,082.2 4,671 1.66
| 16,304.9 600 0.37 82,092.4 8,137 0.99
CHEHE A 9,820.7 184 0.19 68,208.3 1,907 0.28
S-S 1,616.4 66 0.44 10,001.5 1,141 1.14
CH=E A 959.4 21 0.22 7,168.3 1,011 1.41
FFE9A 1,456.6 106 0.73 5,707.6 1,044 1.83
SHEYA 992.3 35 0.35 3,650.6 331 0.91
Fag L 651.7 22 0.34 3,601.1 641 1.78
SH=E 924.3 76 0.82 7,656.4 896 1.17
Xy SHER 958.3 56 0.58 6,454.7 954 1.48
M= 1,373.4 92 0.67 9,296.2 1,666 1.79
HetHE 633.0 73 1.15 3,654.4 821 2.25
g 1,256.7 39 0.31 7,271.3 935 1.29
BdEE 2,461.1 54 0.22 19,627.6 1,156 0.59
HNFEENXZ | 187.1 121 6.47 1,858.2 399 2.15
MEELEXXIAl | 444.3 32 0.72 5,876.7 274 0.47
| 23,635.4 977 0.41 160,032.9 | 13,176 0.82
A 39,940.3 1,577 0.39 242,126.3 | 21,313 0.88

* KR R7H 7 |EH R A X9RFHE7Hs)2t o2l 2 Y= 2HM| S RI2{0] 2F=X| 252 TRRI0IA Lilist Alist &
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5) D|2HRY L17|=(6T) 20k Atis} dat

2021 e 831017 RAD AR OJ2HRY A17|2(6T) 2O0H AlRist Huk= IT 2017t 33.67%2 71y =2
HIEZS XX
-o_q;m EXtCHH| 6T 20P 102 &9 I3} 744= CT 1.307, IT 0.5474, BT 0.387 &0 LiEte

“:: 20211 S8 RAD AMY DI2HRY M7IE(6T) 20K Atist 21 dnt

ST R&D AlS Soll ¥EE DI12HRY M7I=(6T) 20rE Atist dik=

H= o

|T(540._, 33.67%)2| HISO| 7t &2 A2 = LEfH

- CF2OR BT(38474, 23.94%), ET(28474, 17.71%), CT(7921, 4.93%), NT(752, 4.68%),
ST(3571, 2.18%) == LIEf

5407, 33.67%

BT 3847, 23.94%

ET 284, 17.71%

CcT 791, 4.93%

NT 757, 4.68%

ST 352, 2.18%

7| E} 2074, 12.91%

0 100 200 300 400 500
@ [12 V-29] D|A{Y HI|=(6T) 20 Arst 41t @
< =7t R&AD At CHH| S8 R&D AlglQl O|2HRY M7I&(6T) 20K Ardst

Ak HIEZ2 ST(10.36%)2| HIFO0| 7H =7 LERE
- Oi8O= CT(9.51%), IT(7.91%), BT(7.25%), ET(6.78%), NT(5.05%) &02 LtEte
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I 881917 R&D [ 271997 R&D

540/6,830

384/5,295

75/1,484
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20%

40%
@ (12 IvV-30] DIHRY L7I=(6T) 20FE Arst 42t HIS @

60%

80%

100%

STt R&D AlQ| Gi7H| Xt CHH| D|2HRY M7I&(6T) =0FE 10 &Y
8t dat= CT(1.3020)7t 7K =2 LIEHE
- LHZ22 IT(0.5471), BT(0.3821), ET(0.3274), ST(0.2624), NT(0.1921) 02 LtEte

< =7+ R&D A9l Gi7H| FX} THH| D|2HRY A17[=(6T) 20HE 102 A Atst

Hik= CT(2.652)7t 7K = LIEH

- O22= IT(1.39¢4), ET(1.237), NT(1.19¢4), BT(1.11¢4), ST(0.1671) =22 LIEFe

@ (& v-17) D2

o

Y M7IE(6T) 20FE A

109 2
Agist 7%

15°4
toi

102 2
ARz} 2%

IT 9,934.6 540 0.54 49,026.4 6,830 1.39
BT 10,029.3 384 0.38 47,765.6 5,295 1.1
NT 3,921.7 75 0.19 12,498.4 1,484 1.19
ST 1,325.9 35 0.26 20,497.9 338 0.16
ET 8,772.2 284 0.32 33,992.7 4,189 1.23
CT 607.0 79 1.30 3,263.0 831 2.55
7|Et 5,675.9 207 0.36 85,200.3 6,203 0.73
A’ 40,266.6 1,604 0.40 252,244.4 | 25,170 1.00
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20219k 7t88A+ R&D dutE4A]
ursfol 20234 112
WR| SHRIISEI|SCITY OB EHLME
A 02792 MSEHA| 42T S1-E 14U 5
H 8 02-958-4973
W A 02-958-4989
OIMKX FAISIAL SEIZSIAL (02-2269-4783)
X 2 BAM9 2L HM 2 EAE SR
0| EIME 20234EE HE(S | MEEAME)Q| IHRIOZ SHEAHAI TS| X| RIS Hiof

S A

A2l (NRF-2023M3C1A6043400)




